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Section : General Intelligence and Reasoning
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(12,14, 143)
Ans X 1.(17,12,134)
< 2.(12,18, 246)
25 3.(16,10, 235)
” 4.(15,19,252)

Question ID : 81616114237
Status : Answered
Chosen Option : 4
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Question ID : 81616113019
Status : Answered
Chosen Option: 4
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Question ID : 81616113033

Status : Answered

Chosen Option: 2
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Ans

TR B AR A ¥l AN H CAAEF Idelieher FY AR 36F a6 BT 1T 92 & 3eeR &

31 AT AT B FEA et &, S Foaw i §2
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K411

Question ID : 81616112529

Status : Answered

Chosen Option: 2
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Question ID : 81616114242

Status : Answered

Chosen Option: 2

Q.6 3HerRl & U Hater &t g Sit & 71 2jraen d Reh U WR A ®U & R ST UR 2@ S OR
Caan

r_vgl_mv_Irm_qg_rm_qgl
Ans X 1.qrvlvm
w2.mrnaqvlv
X 3.,maqryvyv
X 4.v,vqrlm

QuestionID: 81616113018

Status : Answered

Chosen Option: 2

Q.7 fig g feeal | 9 ag H@wear g4 sit Feafaiae e # usfRg (7) & e wR snget?
3,20, 38,52,75,82,114,?
Ans X 1.118

22.101
& 3.110

X 4.104

Question ID : 81616113021

Status : Answered

Chosen Option : 3
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Q.8 iRt ar Tiw-gm fRw wy g A @ i foredt deof & uer awm & ok Id @ uen i 8139
ST TEAT-g7H T T &3

Ans . 1.27:82

K 2.22:127

2 3.16:91

X 4.28:163

Question ID : 81616114235
Status : Not Answered
Chosen Option : --

Q.9 Fr=fafEa e Ft dgfea & g A 3t Righ & = weR g far s afey?
156-13+9x18+5=169
Ans X 1.x3fR-
252, x 8+
o 3.k -
XK 4. =R+

Question ID : 81616114238
Status : Answered
Chosen Option: 3

Q.10 Ry faredt § & ag avf-awe 7 ot Prffde sjrEe § 5sig (7) % S 6 ST
MEND, PHJZ, SKFV, VNBR, ?
Ans X 1.YQZM
X 2. YJYN
<7 3. YQXN
2 4. YRXO

Question ID : 81616113010
Status : Answered
Chosen Option: 3

Q.11 o<t fafre geairur 5, ‘MINT’ &t ‘224’ 3iR ‘FANCY’ it ‘245’ & w4 # gHheag fovar mar §, &l st
T # ‘CONTOUR’ ohi &t Theeleg fomam sirgam?

Ans X 1.259
X 2.301
<7 3.742
X 4.597

Question ID : 81616114229
Status : Answered
Chosen Option: 3
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Ans X 1.TFKG
X 2.JNCQ
2 3. RDMI
<7 4. FHWU
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QuestionID: 81616113012
Status : Not Answered
Chosen Option : --

Q.13 ag e g W HeaTd U geR 9 34t avg @ Hafta 781 § 99 e Ry 7o de i =)
ek g 9 dafda g1

(64,91,118)
Ans X 1.(55,82,109)
<7 2. (46,73,101)
X 3.(72,99,126)
X 4.(48,75,102)

Question ID : 81616112519
Status : Not Answered
Chosen Option : --

Q.14 fort fAfAe gevrur # 'COW' &l 'ZRF' & U # iR ‘DOG’ @l ‘JRG’ & w4 # forar srar g1 at st
AT # ‘RAT’ a1 & forar sreem?

Ans X 1.XDV
X 2.VEU
X 3.UDW
7 4. WDU

Question ID : 81616112511
Status : Answered
Chosen Option : 4
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Q.15 Four words have been given, out of which three are alike in some manner and one is
different. Select the word that is different.

Ans  # 1. Ecology
X 2. Ophthalmology

25 3. Myology
25 4. Dermatology

Question ID : 81616114225
Status : Answered
Chosen Option : 1
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Q.16 Akshar and Manvita recently celebrated their silver wedding anniversary and their older son
Sanju’s birthday. If the age of Sanju 18 years after his parent’s marriage, and his age at their
golden anniversary is in the ratio 5 : 21, how many years after their marriage was Sanju
born?

Ans 7 1.8years
X 2.12years

25 3.15years
X 4.10years

Question ID : 81616113027
Status : Answered
Chosen Option : 1
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Ans 7111
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X413

Question ID : 81616114241
Status : Answered
Chosen Option: 1
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Question ID : 81616113031

Status : Answered

Chosen Option: 3

Q.19 dg gl e g1 it 3y g 2regl ol 39 s A gaifar & e e | & sidistt ersgentar & omd €1

1. Topology

2. Topper

3. Tolerance
4, Together

5. Tomorrow

Ans X 1.4,53,1,2
< 2.4,3,51,2
X3.421,53
X 4.4,2,3,1,5

Question ID : 81616113011

Status : Answered

Chosen Option : 1
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Question ID : 81616113028
Status : Answered
Chosen Option: 2

Q.21 Select the option in which the words share the same relationship as that shared by the given
pair of words.

Tintometer : Colour
Ans X 1. Viscometer: Wind

£% 2. Spirometer : Speed
25 3. Planimeter : Pressure

«# 4. Protractor : Angles

Question ID: 81616113015
Status : Answered
Chosen Option: 4
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Question ID: 81616113014
Status : Answered
Chosen Option : 3

Q.23 ag e g ot et dea @ S uaR Hafla §, [T UaR gt Swean ueed! S @ H@afta
gl

23:531::27:?
Ans X 1.656
X 2.573
X 3.802
w7 4.731

Question ID: 81616112517
Status : Answered
Chosen Option: 4

Q.24 ofg goor & ¥ & FFER PQ T W@ A ¢, A BT T TS F GG qu0r Sl wafaa el
P

COGNITIVEI
Q

s 1 3VITIVMDOD
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X3 3VITIDNO0D
X4 COGUILIAE

Question ID : 81616113032
Status : Answered
Chosen Option: 1
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Ans
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25 1.7t FeRe | 7 8t 11 SrgERoT el &
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Question ID : 81616112515
Status : Answered
Chosen Option : 2
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Section : General Awareness

Q.1 Through which of the following actions does the lithosphere move over the asthenosphere?

Ans

25 1. Deposition
< 2. Continental drift
25 3. Weathering

i 4. Plate tectonics

Question ID : 81616113045
Status : Answered
Chosen Option : 2

T T & S1uysil & i o SITeRtoT S i hgl SATaT 2l

Q.2
Ans X 1.g8dE

X 3. gFan

25 4. SIS

Question ID : 81616113040
Status : Answered
Chosen Option: 2

Q.3 ‘geearet (Thullal) o <l Goh Yehed -TETH 1 Sl 81

Ans

w” 1. e

X 2. ghamom

X 3. SrBUTE W&
X 4. Thar

Question ID : 81616112530
Status : Not Answered
Chosen Option : --
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Question ID : 81616112545
Status : Answered
Chosen Option : 4

Q.5 FAM UGS FRERSEATEI
Ans X 1.8

o 2. TEIRR

X 3.

X 4.9k

QuestionID : 81616114253
Status : Answered
Chosen Option : 2

Q.6 =1 & & sla-ar Ty feeR 2020 F sAfora-Tar | St 213597 == el arer wuH 59 59

™r?
Ans o7 1. ITRUIRY

X 2. @iedh
45 3. A TRET
X 4. fafarg

Question ID : 81616113057
Status : Not Answered
Chosen Option : --

Q.7 , G RATaIg uroft g St gt wR Sifdes g1 6t fRzneraw dxa=msi & Fafor &+ & fag

Sterer S grel & 9Ty S Haet iR Ak &1
Ans X 1.usft
X 2. Ui

w7 3. are

X 4 T&gu

Question ID ;: 81616113043
Status : Answered
Chosen Option: 3




Q.8 Wah , ST Y Ut uTepfaes -Sicfta geprd @, it veng-vurel gRT 3vafas foig & sk sie

&Y gl d vaTfad St 31

Ans o7 1. SRS (JRRAT)
K 2. ST
25 3. aREE
X 4. SR
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Question ID : 81616113046
Status : Answered
Chosen Option : 4

Q.9 A= H @ RIF-1 T, T AL & de R R T &2
Ans X 1. BIHHES
X 3. aRIoRd

& 4. FEAR

Question ID : 81616114256
Status : Answered
Chosen Option: 2

Q.10 <= 2020 ek T SRR & IFAR, TGh AL Y SfdpiRer wursti M g

Ans X 1.7
X 2.1
7 3.6
X 4.10

Question ID : 81616114265
Status : Answered
Chosen Option : 3

Q.11 A=A | frea 712 $=it # R = smeravT R ur?
Ans 7 1. GEHIE [O-ahITeH

X 2. e R

25 3. gI-3&-&F Cah

£5 4. TS TSI

Question ID : 81616113049
Status : Answered
Chosen Option: 1




inflation leads to high unemployment.
Ans X 1. Depreciation

X 2. Deflation
«# 3. Stagflation
X 4. Recession

Q.12 is an economic scenario where a peculiar combination of low growth and rising
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Question ID : 81616113037
Status : Answered
Chosen Option : 4

Ans X 1. smedf
25 2. <
i 3. Trae
X 4.8

Q.13 WieR ggwie 7 raTedl A g o i i A

QuestionID : 81616114260
Status : Answered
Chosen Option: 4

Ans 7 1.91d
Xo2.dm
X 3.+
X 4T

Q.14 < SR (Great Bear) ehgl STHATAT dRTHSH fahdl THehlet dRRI @ a1 82

Question ID : 81616112534
Status : Answered
Chosen Option : 1

HRT rfA=sht e &2
Ans X 1. R g
< 2. sriferar g
< 3. epaf Ry
w# 4. QfUenT UTgenoT

Q.15 =T 2021 & fagy anffes war gy Hewfera gar afRyes Aanaif (YGL) @ =it & g & @ -

QuestionID : 81616113051
Status : Answered
Chosen Option: 1
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Ans X 1. TG
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Question ID : 81616113054
Status : Answered
Chosen Option : 3

Q.17 uuH 3iteiftes @il @ smatsr v 7 9§ fave 321 A fvar war ar?
Ans X 1. gEds fmrew

X 2.

X 3.9

o 4.0

QuestionID : 81616113055
Status : Answered
Chosen Option : 4

Q.18 A w7 fore o wou & e @2
Ans X 1. afferg

i 2. AR

X 3. A

X 4. sifsan

Question ID : 81616112542
Status : Not Answered
Chosen Option : --

Q.19 =1 # & fha URa- MRl darfies ot et 2021 | sHReRT siaRer goist ‘Amdr (NASA) &
FRfaTge T & U fges forar mar ar?

Ans X 1. Tidg ARE0
X 2. AU TR
< 3. A AT

X 4. TET 8RR

Question ID : 81616113059
Status : Answered
Chosen Option : 2
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&
Ans X 1.fS=r

X 2. &mgw
X 3.8
4. 3TgY
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Question ID : 81616113058
Status : Answered
Chosen Option : 2

Q.21 gAdia Geata g (s gw.e.) & g @em arer uRda swiardia & ugern et
fFafafea & @« ar

Ans X 1.3 fagen
X 2. Qem aat
AR e A i
45 4. UEIY AR Sl

Question ID : 81616112551
Status : Not Answered
Chosen Option : --

Q.22 =1 # & fs el 7= 91q (alkaline earth metal) whgT STraT &2
Ans X 1. wifeAw (Platinum)

«? 2. TR (Magnesium)
£< 3. s (Copper)
/X 4. FiEre (Cobalt)

Question ID : 81616112537
Status : Answered
Chosen Option: 2

Q.23 ‘g f3ed: 7 Afta sl @it & drms R A S & 82
Ans X 1.U9. &0

X 2. ot &arg

/5 3. ST &R

7 4. . g

Question ID : 81616113052
Status : Not Answered
Chosen Option ; --
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nfae gid &l
Ans X 1.¥ed (amalgam)
X 2. af@faa (blended)
25 3. gHiR (parallel)

w7 4. fga (mixed)

Question ID : 81616114250
Status : Answered
Chosen Option : 4

Q.25 'gwR' ____ rod fil Ue dlh-T At 81
Ans X 1.f8r

X 2. gREs

K 3. g

o 4. TSI

Question ID : 81616114248
Status : Answered
Chosen Option: 4

Q1 If¥ tanf +3cotf—2v3=0%, 0°< 0 <90° &, @ (cosec?d + cos2B) F AT AT HI
Ans 2

X1,

[T

[

X2

o
R

W73 =
12

14

X =
3

Question ID : 81616114290
Status : Answered
Chosen Option: 3

Q.2 Ifselling price of 75 articles is equal to cost price of 60 articles. then the approximate loss or gain percent is :
Ans X '1. No profit no loss
# 2 Loss of 30%
7 3. Loss of 20%

« 4. Profit of 25%

Question ID : 81616113065
Status : Answered
Chosen Option : 3




Q3 mgew 210,000 ¥ 3ifa Fqoa AT IFG WIS T ATl GEEER & FER N TE & §, 25%
T T AqT 14% IR 12% F & FAFT gel TEH F T B @ g IF ¢ AR fraar sww

MK TEdY, 268
7 2. Igell, 68

X3 |, 2100

X 4 ggelr, 732
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Question ID : 81616112558
Status : Answered
Chosen Option: 2

Q4 A wmﬁﬂ—ﬁﬂﬁwmm’sﬂs A & 25% 3T Fuer & 3R C, B & gorer &
50% T El A, Baﬁowvﬁwmmaﬁﬁmﬁﬁﬁﬁww

Ans K18ﬁ,,?|'
w2 4 T
X33 Ra
X4 5 &g

QuestionID : 81616114280
Status : Answered
Chosen Option: 2

Q5 3.37 a7 TwaTHT abe, cab 3T bea FT TETEe

i Klia+b+c
2. 31
X3 37
X4 3

¥ =T FET g

Question ID : 81616114272
Status : Answered
Chosen Option: 2

Q.6 v Remem & ot B Fw FEA 1400 ¥, rwd & 35% o wsfEar § R A s ¥ Ay ot
qlat # 80% W 3R 90% AT ST g8, A afeecot F AT BT F gfoRrd WA

Ans X1.17.4
2. 18.5
<3 158
X4 215

Question ID : 81616114276
Status : Answered
Chosen Option : 2
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Q.7 fgsr ABC &, 3 AC 91 (@S, 8o AB I &aT$ & 2 a1 & 4 cm 0% §1 339 BC #r e, s
AB &I warg % it I F 4 cm FA &1 Al AABC & IRAT 60 cm §, dF FHFT &G (cm? H)
AT W

Ans K. 150
<2100
v3 120

X4 144
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Question ID : 81616113076
Status : Answered
Chosen Option : 3

Q.8 23 gwamait v 3itwa 51 T ugelr 12 Twasdt v fa 49 ¥ 3R 3w 12 demmat @ st 54 §1 afy
aRgdr & @ R R s, & A gEmst @+ sdiea (S & guHed T @) AT #)

ans 1. 52,65
X2 5175
X3 5325
4. 50.45

QuestionID: 81616113062
Status : Answered
Chosen Option: 4

Q9 ofy 3, 9 F TS (third proportional) p &, & 6, p, 4 & TguigHd (fourth proportional) et
FI

Ans 1. 10
X 2

kJ
I

X 3.

| L2

—
0o

o 4.

Question ID : 81616112561
Status : Answered
Chosen Option: 4

Q10 =5 Yoend!, THEAR T & 450 km F gl TU FAr 1 A Yeremdr H =wmer 5 km/h 3R @, A
38 FAEE g0 F T FA H 1 €T FH THT AN A FAT A F =TI g oS v wHa
# 315 km & g¥r a7 HEh?

Ars X1.6h30m

w27 h

K37 h52m

K46 h18 m

Question ID : 81616112564
Status : Answered
Chosen Option: 2
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QuestionID: 81616113061
Status : Answered
Chosen Option: 4

X

Ans

K151
K2 49
73 47
K4 81

78, @ X2+ F A AT H

QuestionID : 81616113071
Status : Answered
Chosen Option: 3

QI3 o 44 p* 4 @207 = 273 AR a4 02 —ab=218, & (E+1) & w A= = =

Ans

Question ID : 81616114285
Status : Answered
Chosen Option: 2
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sec oy 1t f | T AT AT F
Ans X 1. sin® @

21

X3 =1

K4 tan*er
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Question ID : 81616112675
Status : Answered
Chosen Option : 2

Q.15 g7 Afsw & AABC ~ ARPQ 3&\1%=§%mﬁcpo=4 cm, QR = 6 cm 3R PR = 7 cm &,
ar AC & AT (cm &) 7T #X

Ans X1.7.2
V2 48
X3 6
<4 3.6

Question ID : 81616113077
Status : Answered
Chosen Option : 2

Q.16 &y & o5 arfersm, 2020 & RES T & S Ry Fell & IR FHNRTT ggrr Iod 3 (2 F) 3k

Seloh 3T Fral & eI
o g | [Rfe s
A
35,000 | 38,500 | 29,000 | 42,000
6,000 |6,300 |5,000 |7,500
ElEx|
1,000 |1,100 |[1,000 |1,240

1,800 | 1,950 |1,400 |1,500

T F AT F, Id F HAG 3HHI T AT AT HI

Ans X1.853 : 128
K2 128 : 653
3. 525 1 128
#4128 : b2b

Question ID : 81616112377
Status : Answered
Chosen Option : 3
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Q.17 AABC & ofif, O &% ey 37a W o §1 A0 = T ot W 7% 3= & fig P faerch &1 BC
= fig D 5% weR § 5 AD L BC &1 afy 4B = 68° 3ix 2C = 52° §, &t «DAP & AT wid H

Ans g 28°
K2 12°
3 16°
X4.18°
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Question ID : 81616113074
Status : Answered
Chosen Option: 3

Q.18 ABCD =i wgefsr & sfomait AB 3iiX DC #F dgit X & E X fArerehr €, 3R spomait AD 3iv BC @r
gae W F F T et &1 afe <ADE = 80° 3x <AED = 50° §, ar £AFB & AT #Id HI

Ans X1 200
X2 40°
X3 5Q°
&4 300

Question ID : 81616114287
Status : Answered
Chosen Option : 2

Q.19

AABC &, B T&F&IUT &, ITE cot A = %%,Eeri“(“’S“w”) FT AT AT FL

cos C (sin C — sin 4)
Ans 1. 3
w2 =3
XD
Ka _D

QuestionID : 81616113686
Status : Not Answered
Chosen Option : --

Q.20 =ie =1fSe &9 & TAET @9 W T ARaa T1f¥% Iwgfey o a7 W 29,500 H Ay 2 a9 7
211,495 g STl g1 3% 3@ o 53 TR W AR e &) R, WURT @ (3 H) Aa w0

Ans 13,990
X 2. 4,560
X3 3,420
v 4 3,800

Question ID : 81616114279
Status : Answered
Chosen Option: 4
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Q21 o 5 1 590 B, i & T Pl & MR a1 &, &7 S 9V3an? §1 A H T e
#r das (cm FH) 7T FL

Ans  x 1. D
X2 4
X33
V4 B
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QuestionID : 81616113070
Status : Answered
Chosen Option : 4

Q.22 & 1% arferr & HeuTA FT AT 0T F 3ea] &

(2014 & 2018 TF) Wi I8t &, Q, R, S 3R T &7 =R faczmedr ¥ ai¥F qdem & 39fdg (A) ik
3edivT (P) ©Ts! @ g&ar

faemera) Q R S T
ad A [P |A [P |A [P [A [p
2014 320 | 240 | 400 | 340 | 420 | 273 | 250 | 225
2015 200 | 320 | 380 | 285 | 350 | 280 | 300 | 228
2016 240 | 286 | 360 | 288 | 330 | 264 | 320 | 256
2017 350 | 252 | 420 | 294 | 380 | 247 | 350 | 315
2018 375 | 320 | 450 | 405 | 400 | 344 | 375 | 300

2015 & 2017 o T¥e@merg R § 3cdivr g arer omHr & iiad @& 3R 2015 7 fegea Q &
Scdiot SR FT &I F E AT x §1 X F: AW F 9= el

e K135 3l 40
X2 25 3T 30
X320 3T 25
% 30 3T 35

Question ID : 81616114294
Status : Not Answered
Chosen Option : --

Q2 Ffr 2x+3y+1=0 ¥ ¥ (8x*+8+27y° —18xy) & I 71T FLI
Ans 5. -7

Va7

X3 -9

X49

Question ID : 81616112567
Status : Answered
Chosen Option: 2
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Q.24 FH=r & a1 e, 2016 ¥ 2020 I =R AW & ST AT ISt Hr TEar gt

Y | dSi1e | eeHEEIG | Ul | Pl
2016 1800 | 2500 1800 | 2000

2017 2500 2300 1850 1800
2018 2300 2400 1840 1760
2019 2440 1950 1900 1600
2020 2250 2100 2000 1750

2017 # =EeTe 7 3T 2020 F Fewar # FMC Q937 H FoA GEAT Fhaetr g2

Ans K 1. 4750
K2 4500
V3 4250
X 4. 3550
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Question ID : 81616112375
Status : Answered
Chosen Option: 3

Q.25 & o afore &7 3reTaa F 3R TF 7 3o 5

(2014 ¥ 2018 @) T It &, Q, R, S 3R T 37 IR FacHeEt ¥ T e F UG (A) 3R

3ot (P) T @ dEdr

faemem| Q R S T
ad A Jp |A [P [A [P [A e
2014 320 | 240 | 400 | 340 | 420 | 273 | 250 | 225
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Question ID : 81616114296
Status : Not Answered
Chosen Option : --
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Section : English Comprehension

s Guide



Q.1 Select the option that will improve the underlined part of the given sentence. In case no
improvement is needed select ‘No improvement required’.

A need of an hour is to provide employment to the youth of the country.
Ans X 1.Theneedinan
25 2. The need of an
+# 3. The need of the

25 4. No improvement required
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Question ID : 81616113090
Status : Not Answered
Chosen Option : ==

Q.2 Select the most appropriate synonym of the given word.

Integrate
Ans 1. Assimilate
#< 2. Disburse
#< 3. Distribute

X 4. Separate

Question ID : 81616113099
Status : Not Answered
Chosen Option : --

Q.3 Select the INCORRECTLY spelt word.
Ans X 1. Ascetic

25 2. Boasting
«# 3. Overide
25 4. Evidence

Question ID : 81616113107
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate synonym of the given word.

Leverage
Ans X 1. Suggestion
& 2. Weakness
Z% 3. Conclusion
< 4. Influence

QuestionID : 81616113100
Status : Not Answered
Chosen Option : --
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Q.5 Select the most appropriate option to fill in the blank.

Ans 7 1. exposition
25 2. picturisation
< 3. exhibition
X 4. qualification

His of the topic was so good that students had few doubts at the end of the class.

QuestionID: 81616113110
Status : Answered
Chosen Option : 2

Q.6 Select the INCORRECTLY spelt word.
Ans  # 1. Licenced

X 2. Aesthetic
X 3. Haphazard
25 4. Chandelier

Question ID: 81616113108
Status : Answered
Chosen Option : 3

Q.7 Select the option that expresses the given sentence in passive voice.

Richard wore a broad belt with shiny buckles.
Ans X 1. Abroad belt with shiny buckles had been worn by Richard.

5 2. A broad belt with shiny buckles was wear by Richard.
5 3. A broad belt with shiny buckles wore Richard.
. 4. A broad belt with shiny buckles was worn by Richard.

Question ID : 81616114299
Status : Answered
Chosen Option: 4

Q.8 Select the most appropriate option to fill in the blank.

share of students who have attended educational institutions.
Ans X 1. lower
252, low

3. lowest

25 4. last

The lack of regular academic sessions has meant that in 2020 the country has had the

Question ID : 81616114321
Status : Answered
Chosen Option: 2
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Q.9

Ans

The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

The food / in the new eatery / is much best than / the one in RK Puram.
< 1.is much best than
X 2.inthe new eatery
2% 3.the one in RK Puram
X 4. The food
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Question ID : 81616112580
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate ANTONYM of the given word.

Ans

Infirm
< 1. Feeble

X 2. Frail
«~ 3. Strong

X 4. Weak

QuestionID: 81616113101
Status : Answered
Chosen Option: 3

Q.11

Ans

Select the most appropriate meaning of the given idiom.

Feel at sea
X 1. Feel angry

25 2. Feel comfortable while travelling by water
X 3. Feel seasick

w# 4. Feel lost or confused

Question ID : 81616112598
Status : Answered
Chosen Option : 2

Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the

Ans

right order to form a meaningful and coherent paragraph.

A. It is also arich source of news updates around the world.
B. Older people and children remain glued to it.

C. It has become a great source of entertainment for all.

D. TV has become a powerful medium these days.

2 1. ABCD
<7 2. DBCA
X 3.BDCA
X 4. ACBD

Question ID : 81616113097
Status : Answered
Chosen Option: 4
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Q.13 Select the option that can be used as a one-word substitute for the given group of words.

A corporation made up of a number of different companies that operate in diversified fields
Ans X 1. Agreement
25 2. Association
2% 3. Correlation

< 4. Conglomerate
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QuestionID: 81616114318
Status : Answered
Chosen Option : 2

Q.14 Select the option that expresses the given sentence in reported speech.

"I live in Mumbai,' she said.
Ans X 1. She said that she had been living in Mumbai.

< 2. She said that she lived in Mumbai.
< 3. She says that she was living in Mumbai.
25 4. She said that she has been living in Mumbai.

Question ID : 81616113088
Status : Answered
Chosen Option : 2

any

Q.15 Select the option that will substitute the underlined part of the given sentence. In case no
substitution is needed, select ‘No substitution required’.

Japan has made important and original contributions inside some fields like photography
and electronics.

Ans X 1.for some field like
<# 2.in some fields like
25 3. No substitution required
25 4. on some field like

QuestionID : 81616114301
Status : Answered
Chosen Option : 2

Q.16 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
right order to form a meaningful and coherent paragraph.

A. “Buy sweet apples, or none at all”’, he instructed his servant.

B. A rich man sent his servant to an orchard to buy some apples.

C. The servant asked, “How am I to know that all of them are sweet if | taste just one?”
D. The owner of the orchard said to the servant, “All my apples are sweet. Try one.”

Ans X 1.BDAC
X 2. ABCD
<7 3. BADC
X 4. ACBD

QuestionID : 81616112593
Status : Answered
Chosen Option: 1
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Q.17 The following sentence has been divided into parts. One of them contains an error. Select
the part that contains the error from the given options.

The Committee agreed / that small businesses / has been adversely affected / by COVID-
19.

Ans 7 1. has been adversely affected
X 2. The Committee agreed
< 3. by COVID-19

X 4. that small businesses
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Question ID : 81616114298
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate ANTONYM of the given word.
Sprightly
Ans X 1. Lively
w* 2. Lethargic
X 3. Active
5 4. Energetic

Question ID : 81616112597
Status : Answered
Chosen Option: 2

Q.19 Select the most appropriate meaning of the given idiom.
The gift of the gab
Ans X 1. Loves to give gifts
«# 2. Talks well and persuasively
25 3. Writes very well
25 4. Used to grabbing others’ gifts

QuestionID : 81616112599
Status : Answered
Chosen Option : 2

Q.20 Select the option that can be used as a one-word substitute for the given group of words.
A short rest or sleep taken after lunch
Ans X 1.Doze
25 2. Leisure
25 3. Slumber
«# 4. Siesta

QuestionID: 81616114317
Status : Answered
Chosen Option : 4




Q.21
Ans

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
@) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.

SubQuestion No : 21

Select the most appropriate option to fill in blank no.1.

25 1. nominal
X 2. factual
«# 3. potential
25 4.impossible
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Question ID : 81616113092
Status : Answered
Chosen Option: 2

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
@) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no.2.

Ans

£5 1. identify
X 2. differ
25 3. disagree

i~ 4. resemble

Question ID : 81616113093
Status : Answered
Chosen Option: 3
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Q.23
Ans

Comprehension:
In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
@) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.

SubQuestion No : 23

Select the most appropriate option to fill in blank no.3.

w” 1. more
25 2. most

X 3.many
25 4. much
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Question ID : 81616113094
Status : Answered
Chosen Option: 1

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
(1) risk; and it can replenish cells that actually (2) those of a person who has
never smoked. The (3) you smoke the more mutations you have. The (4) damage
to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,
larynx and pharynx.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no.4.

Ans

#5 1. broken
& 2. stable
25 3.incomplete

w” 4. constant

Question ID : 81616113095
Status : Answered
Chosen Option: 3
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of the

alternatives given. Select the most appropriate option for each blank.

Smoking causes mutation in cells leading to cancer. Quitting smoking can help reverse the
@) risk; and it can replenish cells that actually (2) those of a person who has

never smoked. The (3) you smoke the more mutations you have. The (4)

damage

to the cells lining the airway and lungs can (5) to cancers in the lungs, oesophagus,

larynx and pharynx.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no.5.

Ans

& 1. direct
X 2. seize
X 3. guide
w” 4. lead
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Question ID: 81616113096

Status : Answered

Chosen Option: 3
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